P S

B &

AU —)V&E1,620H

B3

J—b

MET = (15582 v F) 303 9:.00~1200 | 295X [ S o[22 A4V R74E
— #%& 2,160/
s —— T_AICHEF NU—ZV ITRU _ b= b
15108 (K) 7:?%%;_‘;@_ BAIEU U — 2 (40%). 102 | 20:30~21:50 | 2552 | 028 | g |23 7\D922F
a Y av MelL Y R (4053) — & 2.160M ! 7‘?5“7"35_71'7%/_
, S
A28 | 4 3=z 5 IR — LR 20:00~23:00 L ek
= Gt = — f& 2,160 R
7 (1550”8~ v ) XE?E?EE% I TsoNe ISR " aos RO—ILESIOR Xa 12 74|
:00~21:30 — #& 1,080M
18138(8) 52 5T VAT — L EE e o : 25—IV41.6208 | ‘
T (15987 v F) 30+% 6:45~9:45 ISR [ B ST A4 R7AE
[BICIAAVYRAUDFETEET A=)V % )\— 500M
1813H(H) =bs} < LD DEEHAED T .00~17: BESM S0 T 3 | =
BEERT ‘J@’ED &L 16:00~17:00 enrceok | 27 T/VERE 1,000 2T 95T\ X2k
— % 2,000
=i =— TRICHELRE S L—ZV ITRU _ INSYRR—ILF= KU
18248(k) |/ b{f; I’JKT—;V& SHEL U—2 (405)). 0% | 20:30~21:50 | £45% |00 | om | 9FTNIREF
7= Yav MLy 22(40%3) — #& 2,160 ’ 4&\—?5 Ly—7
F= 30 e s e st S5 A | — & 2160M R
(1557E~ Y F) .XE-E,NEﬁE% 20‘-‘6(7)%@2%':-'3 - £I5A 47y AD—IVES10M A& 1Y F74H
: : ~"#% 1,080M
18278(8) === YIRS —LHS NE O _ 25—)V41,620 | ‘
BET (15587 v F) 3034 6:45~9:45 EISRA | - $2160H ----- ][22 A4V R74E
SEBCIHVY AVDEETEET 29—V XV )\— 500
1H278(H) =Pl W< LIEDOEEAED T 5L -00~17: BEBM |, 0% e A5 | o=
ARl 16:00~1700 | srcnon | 27-MEXBI00R | i 55 TN R2B




